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Algebra (Exercises on solving two first-degree equations in two variables
graphically and algebraically.)

Geometry (Positions of a point, line, and circle relative to a circle.)
1) Find in R x R the solution set of the two following equations

graphically: y=x+4,x+y=4

2) Find in R x R the solution set of the two following equations
algebraically: X+5y=2,2x-3y+9=0
3) Find the values of a, b if (1, 2) is a solution of the two equations
ax +by+5=0 ,2ax+by-1=0
4) If the lines represented by the equations:
x+5y=4and x +ky=7are parallel, find the value of k.
5) Two acute angles in aright triangle have a difference of 50°, find the
measure of each angle.

6) In the opposite figure:

Two concentric circles (M) . AB is a chord B/DZONE N\,

in the greatest cirle cuts the smallest circle at C and D, MIJ

MO 1 CD , prove that AC =BD
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7)If I(?ijNDﬁFe two circles with radii of 6 cm and 4 cm respectively, find the

length of MN in each of the following cases

1) the two circles touch externally 2) the two circles touch internally
8)M, N are two intersecting circlesat Aand B L MA=9cm,AN=12cm,
MN =15 cm , find the length of AB

9) in the opposite figure:

M, N are two circles intersecting at A, B,

(m«NMD) = 110° , AB n NM = {H},

AC is achord in the circle, D is the mid point of AC
find (m4«BAC)

10) in the opposite figure :

M, N are two circles intersecting at A, B,

C € BA, D €ecircle M, (mzC)=55°,

(m«NMD)=125° , prove that CD is a tangent to the circle at D
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